W\

7/ ﬁl/_/)-l M7
EIZ SX03030000

Separator Type M (291003)

7 39 L1=100 Yayi
(29) |_2:<1 50)
160
(200)
M6
42.5 107
(32.5) (1 57)
YT 0
L — N
s

X ( YRSTERIFL2=150D &=

HEEE:034 ke

i B ® % = # B " &
1 HfZ A ¥ — 25 | CACT02. fth
2 Bt 2 | C5191
3 | RAFIL 2 | SUS304 M6
4 | EE 4 | SUS304 M6
5 | ElYyEy 4 | SUS304 ®2x%20
6 | A 1 EL-GEM

119



t/INL—F ousurm

3 . & SX03010000
Separator Type One—touch Operation (290001)
5.2 25.5
| | ~ ~ | | | |
e =—>—F %
B —~ ~ B g
20 100 20
166
126
I T
TN - - - __] _ 4 o
T T T Yy
! I ] I [Ie]
HWEEE:008 ke
B B & 4 HE # B " &
1 t/\L—4 1 EEIEILE=IL

120



(o]
t/ \l/—/)-l PH356F L=100
EIZ SRO1230000

Separator for Feeder (90160503-2)

70

20 =100 20

pid

i B & 4 HE # B " &
1 PN 4 | SS400 FB32x 6
2 RAIVI—RILE 1 SS400 M12 X 70 X 25
3 | Fuk 2 | SS400 M12
4 | BEY 2 | SUS304 $ 3.2 %32
5 | EHEH 1 FRP t6
6 | AURYr 4 | SUS304 b4x22

121



t/\L—43

fFFH L=150
Separator for Insulator B SR01240000
p (90150408-18)
) s
_e_
) rh
C T\ ] o
SR T+
T/ T
' L 1
15 150 15
2—-¢15
| |
[ o] IR @
G‘ ‘ | ‘ __:_ N
| | N
| | (e}
| I | | T
| |
o 0} om A o= ® B " &
1 A 1 55400 FB32 %6
2 NAVE—RILE 2 $5400 M12 X 60 X 25
3 Fuk 2 S$5400 M12
4 B 2 SUS304 $3.2%x32

122



t/\L—43

& B IR ACHR
Separator for Protective Wire Wiring B #& SX03040000
___—-—————ﬁ-i—“—!‘\\ |
I N NS N 1 Hs
+ T
B | - ||

165

165

330

-+

i

_é

j

|
60

HREE:158ke

i B & 4 HE # B " &
1 T/ AL—E KK 1 SS400 FB50 % 9
2 | RARILL-FUb 15 | S$S400 M16 X 60
3 EhEE 1 SUS304
4 EXTa 1 SUS304 b 4x40




[X]#& SX02010000
(280001)

EE— =

THPOH

100

55

0S

hi

500

Catenary Stabilizer for Twin Simple

300

e
4E
-
o
= &
EJ éa
o @
TI=[8]18]8]. |8
Ol T
L<|ln|n|Nn|C|w
Slalo|lolaln
el N N
S
4
el
£
& i
| |=|E|5[D
= B[R]
o .n.muﬂlmmw
TN L ||
ERRRIEINN
b b B A DN
Y[y |R|D|K[X
i

124

2
3
4
5
6




JSUFHRXFEE

v ~

AHT 5

Branch Line Support Fitting for Hinged Cantilever

[X]# SR01370000
(90150107-59)

i B & 4 M= % B " &
1 INUR 15 | S$S400
2 | Ev 1 $S400
3 | ARINEARILL-FUb 15 | SUS304 M12 x 80
4 | BIEY 2 SUS304 $3.2x%32
5 95207 2 | 74026 =
6 | FES 2 | SUS304 M12
7 EhEE 1 SUS304 M12
8 | RARILL-FIb 15 | S$S400 M12 %X 90 X 30
9 18 Z R 2 SS400 t4.5

125



.
% %%5 L=1400mm . 1800mm

Cross Clam 2 SRO1120000
P (300004-1)
5= VI R* ithg
27
& NI h—
© N
- - - ﬁ- -
] L a )
i s U D S B
30 30
60 L=1400 60
L=1800
s
_n | ¥
g
11
| )
99 } %)
e 0 = & W= o B S
1 Av—AF 2 C6191
2 A4v—BF 2 C6191
3 Khl 6 SUS304 or XM7
4 TTIE A ES 6 SUS304
5 ERPDHIEF VR 6 SUS304
6 1v—x8 2 C6191
7 INAT 1 A5052TD-H34 ® 22 X3
8 Rk 2 C5191B-1/2H
9 REF1—T 2 F70Ov

126



L& FEMREN/N— w»

[X]# SC01010000

Catenary Wire Protector Type S (310005)

48
36
| f
[ J
—1 - _m < _— - ]
vl A~ ‘
( /
| !
(mm)
EFER d A B
60~ 100mn 15 60 21
135~200mm | 20 64 26
325mrf 28 70 34
XABFE.E. K. B.ER LD EVY
HEEE:006 ke
o B & A = # H " &
1| &F 15 | RYh—RHr—F

127



t_)J:D !f‘i1% jj/{_ EMSH 90~ 100mi

Catenary Wire Protector Type Ellipse—S for 90~ 100mm X & SC02010000
(310015)
74 55
48

ol

i

) BILE. &, &
HWEEE:009 ke
CES 05 % e M B B *
1 | AEAR 1 | Byn—Rir—r
2 | AHBA 1 | Ryn—Rr—
3 Hh/\—RE> 2 SUS304

128



5 J:5 %%51%5573/ \— &M SH 135~ 150mi

Catenary Wire Protector Type Ellipse—S for 135~ 150mm X # SC02020000
(310014)
87 60
48 19

XEITER. B, &
HWEEE:012ke
CES 05 % e # B B *
1 | AEAR 1 | Byn—Rir—r
2 | ABA 1 | Byn—Rir—r
3 Hh/\—RE> 2 SUS304




5 J:5§5ﬁ1%§%73/ \— &M SH 730~ 1050

X & SC02050000

Catenary Wire Protector Type Ellipse—S for 730~ 1050mri (310013)

93

78

I
|
110
68

ol

Cl‘li U
X BILE &
HEEE:020ke
BE 05 & = MoB B &
1 | AFAR 1| Ryp—Rr—k
2 | AABR 1| Ryp—Rr—k
3 AN—RE> 2 SUS304

130



H&D %%51%5%73/ \— @@ suss. PHISON

Catenary Wire Protector 5 5 . [X] 2 SC03010000
for High—speed rail “Shinkansen™ St135, 150mm (310017)
P3.2
92
48
B _
N
N .. <% I
1. ’
\l/
XBEFE . H.E
HREE:010ke
o B & A H= # H " &
1 REAR 1 F40 6
2 | AABH 1 F40 6
3 | ElYEY 2 | SUS304

131



INHHIN—

TLETF«F2 PH356mm2 x 245

Insulated Hanger(2Line) Brevity Type PH356mm % 2

[X]# SR01300000
(90150107-52)

HEEE:030ke

T S ME 7] g &
HIN—A K 1 POM
E¢et 2 C5191

132



1%5%73/ \— LY

) ) & SC1107M000
Wire Protector for Stranded Wire (31100700)
160
30 50 50 30
. ; : 0
[ 1 T 1 -
| ‘ 1!6 o~ ‘ -
— | | o] -
| | | | — |«
| ' 16 ' -
| | |
i @ HEE
! \
11 t%e
ﬁ(*if’g“ ERL VR 7Y
222 [ 40 T100 [200 [250 [325 [200 300 [510
A 435|63 |85 |90 [100| 85 [ 95 [117
B 33.5/44.566.571.5(81.5(66.5|76.5|98.5
c 35|85|85|85|85(|85(|85/(85
t 0.5 1.0
i 0} om A o= M B w &
1 {REEH/N— 1 C1100 ERE YA
REH/N— 1 A1050 BE7ILEEYiER

133



